
Handicapping Process for the Sacramento Golf Club 

All applicable SGC tournament scores and differentials are tracked (for tournaments where an 

individual score is recorded) and an SGC Handicap Index is calculated after each tournament.  

For the next tournament the lower of the NCGA Handicap Index or the SGC Handicap Index 

as adjusted below is utilized.   

How the Club Handicapper calculates the SGC Handicap Index: 

  Calculates an SGC Handicap Index from the handicap differentials from club events  

  Weights the relevance of the SGC Index based on how many club event scores have   

 been posted (initiates after 3 scores have been posted) 

  Percent of difference between NCGA Index and SGC Index is applied to adjustment 

Examples: 

NCGA Index = 15.6 
SGC Index = 10.6 
 
Case 1  (# of scores = 6) 
 
Adjustment:  0.6 X (15.6 – 10.6) = 3 
Adjusted Index:  15.6 – 3 = 12.6 
 
Case 2  (# of scores = 10) 
 
Adjustment:  1.0 X (15.6 - 10.6) = 5 
Adjusted Index:  15.6 – 5 = 10.6 
 
 
 
 

 

 


